(2) BOD, COD, £E%. 2B0IBREBEEZFHKR

7 BALEERE

a BODGIJI

EEacRh RRERERE | BE N L3 E 20 3 i3
JKigk £ | & & =E TOMEfFEY| & & =FE 75%fE
FRII1) [BciE A 1091212 = 100] 0.9 §0.9| 12712 = 100] 1.1
Fa)Q2) RJIHERE B 1.0/ 12712 = 100 1.2 g1.1 [ 1212 = 100 1.4
I EFE EAR A 1071212 = 100 0.7 J0.8] 12~ 12 = 100] 0.8
HEIFR A1) |[FAXE B 1.0/ 12712 = 100 1.1 §1.0( 12~ 12 = 100 1.1
HIITRQ) [=Za16 B 1.2 1212 = 100 1.4 §1.2|( 1212 = 100 1.4
BRI EFRA) [HETHE A 1.1 1212 = 100 1.2 §0.9( 1212 = 100{ 1.0
BIIER Q) [ZEXE A 1.1 1212 = 100 1.2 §0.9( 1212 = 100 1.1
BRIITHR L B 1.3/ 1212 = 100 1.5 41.2|( 12~ 12 = 100 1.3
RZI(2) iy it A 1.3/ 1212 = 100 1.6 1.3 11 ~12 = 92 1.3

HFLEXE A 1091212 = 100 0.9 J1.0] 12712 = 100] 1.0
A=) (3) EKE A 1091112 = 921 1.1 Q110 12~12 = 100] 1.2

RBIEERE A 108[ 12712 = 100 1.0 J0.9]1 12712 = 100] 1.0
HEBIER |REHE AA]0.6 012 = 83[0.500.7[ 11 ~12 = 92 0.7

MEI A 0.8 1111 = 100[ 0.8 J1.0] 11712 = 92 1.1

U B A 106[ 1212 = 100 0.7 0.7 1212 = 100] 0.7
HBIITHR |EEEE A 1071212 = 100] 0.7 §0.8] 12712 = 100] 0.9

BEE A 1081212 = 100 0.8 §0.7| 1212 = 100] 0.8

HERIIE A 1061212 = 100 0.7 0.7 12712 = 100] 0.9
| 2N AR HE A 108[ 1010 = 100] 0.8 §0.9] 10711 = 91| 1.2

ERE A ]10.38 99 = 100{ 0.9 1.1 [ 11 ~12 = 92 1.4
&I FBXREFE B 0.9 9/9 = 100 1.0 J1.0( 12712 = 100 1.2
INKBRJI ESR |FET - EREESERA C 1.1 1212 = 100f{ 1.3 p1.1 [ 1212 = 100 1.3
INEITFESE  [/MVEAES C 1.1 1212 = 100 1.3 g1.1 [ 12 ~12 = 100 1.1
X =8 E 26| 111 = 100 229 320) 12712 = 100 2.3
EHIEE ==& AA]J08]| 11 ~12 = 920 0.9 0.7 1212 = 100] 0.9
EHITR _|[AEHE A 1.0l 11 ~12 = 92(1.090.9( 1212 = 100 1.1
EEN EEE AA]J06] 1212 = 100) 0.8 J0.6| 12 ~12 = 100] 0.5
AR ®ig A 1081212 = 100 1.0 0.7 12712 = 100] 0.7
Sl FHIEB A 1091112 = 921 1.040.7]| 1212 = 100] 0.7
@ﬂm A A 1091212 = 100 1.1 0.9 1011 = 91| 1.1
R b 45 B 1.0l 1~ 11 = 100{ 1.4 41.1 [ 12~12 = 100 1.3
A BEHE B .7/ 1112 = 92({1.801.6[ 1112 = 92 1.6
Eal Fidt ] B 1.6| M ~12 = 92[1.7Q01.1[ 1212 = 100 1.3
o)l Bl A |0.6] 8.8 = 100 0.6 J0.7] 10~ 10 = 100] 0.8
HAER )1 MR KT A 1071212 = 100/<0.540.6| 12712 = 100] 0.5
BRI EX A ]10.8 99 = 100{ 0.7 0.8 11 ~12 = 92 0.7
LRI EA A 10711~ 11 = 100 1.0 J0.8] 12712 = 100] 0.8
J\BJII J\RJIE A 1.2 910 = 90[ 1.6 §1.6 9~ 10 = 90[ 1.8
il INEE A 109[ 1010 = 100] 1.1 §1.2]| 1212 = 100] 1.4
TR TS A 1061212 = 100 0.7 §0.6| 12712 = 100] 0.7
il XER A 10711~ 11 = 100 0.8 J0.6| 12712 = 100] 0.8
= =L A 06 11~11 = 100 0.5 0.6 11~ 11 = 100] 0.6
FEEZIN HERE A 1.0l 1011 = 91{ 1.2 010 12~12 = 100 1.2
SATAI] F—mAlIE A 108[ 1010 = 100] 0.8 0.9 12712 = 100] 1.3
AFEII =zOB A 1.4 68 = 75[1.9Q11.2 9~ 10 = 90 1.3
f2EII ElIL A 108[ 1010 = 100 0.8 Q12| 1112 = 92| 1.6
ESII] FIE A 10711~ 11 = 100 0.6 §0.9] 10711 = 91| 1.0
EEB |EEE A ]06] 1010 = 100/ 0.6 J09[ 1212 = 100 1.2
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b COD (i)
[EEacE) BEEREm AR 7 ;3 i3
ki £ & | F5 B &5 K ToRE] F1 B &5 K T5%fE
BEEZ() |ZLEMmE A | 25 1,6 = 30 2.7 1,6 = 3.4
R E Al 23 2,6 = 271 2.7 1,6 = 3.2
BEEZ(2 |[FoXaBm% A | 20 4,6 = 221 25 2,6 = 2.7
BHLEEBE A | 23 2,6 = 26 2.6 1,6 = 2.9
T = E LRk A | 1.8 5,6 = 1.6 | 2.2 1,6 = 2.5
Ei5Hh ik A | 21 4,6 = 23 2.5 2,6 = 3.1
HHIIRAR B | 3.7 1,/ 12 = 3.8 | 4.1 1,/ 12 = 45
IFm & |\ [hRE® B | 3.6 2./ 12 = 44| 4.0 1,/ 12 = 4.4
ERME B | 3.4 4/ 12 = 38 [ 3.8 0/ 12 = 4.0
ETF 30 A | 1.4 4,/ 4 = 1.7 [ 2.3 2,/ 4 = 2.6
= ¥ B [RE&SH A | 1.3 4/ 4 = 1.3 | 2.1 3,/ 4 = 2.0
B A | 1.0 4/ 4 = 1.0 | 2.1 2./ 4 = 2.3
ILEEE I Al 1.2 4,/ 4 = 12 [ 2.0 3,/ 4 = 1.9
AERE R A | 1.3 4,/ 4 = 1.3 | 2.1 2,/ 4 = 2.5
RAERE EOE A | 28 0/ 12 = 30 [ 3.1 0/ 12 = 3.1
EBER A | 33 012 = 351 3.4 T 12 = 3.7
c EEFE (GEBE)
‘ TIX0 PR 15 27 Hh 7 3 3
Kigi g il BE25) B & 5] RS
ZLEH%E 0.32] 46 = 0.34] 3.6 =
E\EE(7) |[BEhE 0.28] 5.6 = 0.36] 2.6 =
5] 0.30] 2./ 12 = 0.35] 5./ 12 =
FoXaEHE 0.30] 3.6 = 0.37] 2.6 =
sEt(() (BRARBE 0.37] 3.6 = 031 1.6 =
5] 0.34] 6./ 12 = 0.34] 3./ 12 =
IRM% 0.15] 6 /6 = 022 5.6 =
" % E (BiEh% 0.23] 4.6 = 0.28] 5.6 =
5] 0.19] 7./ 12 = 0.25] 10 / 12 =
HARIIRAR 0.44] 1.6 = 0.50] 0.6 =
W & & [PRE 0.4 1.,/6 = 0.38] 1.6 =
ERME ] 0.35| 2.6 = 0.36] 1.6 =
5] 0.40] 418 = 0.41] 2./ 18 =
EOE 0.29] 4.6 = 0.34] 4.6 =
AERE BELED 0.30] 3.6 = 041 2.6 =
F 15 030 712 = 038 612 =
d £t (Gas)
3 TIX0) |12 15 7 O 7 3 70 3
Kigi g il BE25) B & B35 RS
ZLEH%E 0.015] 6. 6 = 0.018] 6. 6 =
|z (7) |[BEhE 0.014] 6./ 6 = 0.016] 6., 6 =
5] 0.015] 12 / 12 = 0.017] 12 / 12 =
FoXag8HE 0.012] 6./ 6 = 0.015] 6, 6 =
sEt(() (BRARBE 0.012] 6./ 6 = 0.010] 6. 6 =
5] 0.012] 12 / 12 = 0.013] 12 / 12 =
IRH% 0.008] 6. 6 = 0.010] 6., 6 =
" % & |[BEm% 0.013] 6. 6 = 0.013] 6. 6 =
5] 0.011] 12 / 12 = 0.012] 12 / 12 =
HARIIRAR 0032 3,/ 6 = 0.035] 4,/ 6 =
W & & [PRE 0.024] 3,/ 6 = 0032 4,/ 6 =
ERME | 002 5/ 6 = 0028 4, 6 =
5] 0.026] 11 ~ 18 = 0.032] 12 / 18 =
EOE 0.017] 5/ 6 = 0028 4, 6 =
AERE BRLED 0.021] 5/ 6 = 0.0322] 3./ 6 =
F 15 0019 10~ 12 = 0030 7 12 =




